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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVi
dFVo

—o—
+

16

T
14

12

10

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

day

| © | © | © | © | © | ©
| - - — - - - -
|
1
1
L <« L < | <« L < | < L <
- - - - - -
| N | N | N | N | N | N
- — - — — -
| © L o = = = =
 J O
)
: S
a
> > > > >
© © © © ©
< ° + © © ©
\‘AP
“ = - oo - o = - o =
1
1
X X
1
|
1
1
y
4 W
1 ’
I - © - © - © - © - © - ©
_ '
2\ =
IS E—
k K /
X &
1
“ - < - < - < - < - < - <
-
> 4 )
_— P ®
1
1
1
J
o -ﬂ
! 1
0 = 1 ==
o S - oy =) BN N BN N - oy
2 - | —
n ¥ 1 *
| © o o > )
N O O T I x = =
“ m m a o o o &
1
X
1
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T
o o o o o o o o 1B O 1’ O W’ o W o o o o o o o o o o N o © © < o~ o o < ™ N — o
S S S S S S S S K b & & K B W« S o o < N = g S rs) S . . . . ) X . - - - - - -
N N N N N — ~— r~ [{=] © [{=] © o {9} Te)

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

85

80

75

70

65

60

3500

3000

2500

2000

1500

1000

500

3.5

3.0

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W
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14:30 149 70.0 = RRiB014:30 B (RFAEESE)
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2it]1341.0 (90%) 630.0 IHKEC: 2223.0, PH: 6.4

BATHRERA (2.0 , S
FREALERS STMETRR (306.0 :

BRIASERRIERE70. 0 ml.

70.0), AREKREBERMAE

large discrepency for begining water status (108:282.0), set to 143.0 ml.
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2it| 650.0 (5/%) 300.0 3ZHKEC: 2340.0, PH: 6.5

WATHRERRA (1.94) , FHRE

TeREHLERE STHAEART (270.0 :

BRIASERRIERE61. 0 ml.

large discrepency for begining water status (80:282.0), set to 121.0 ml.

61.0), AIREKRBERAE
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